Pay Estimate Created Date: August 2, 2023

Progress Estimate 2	Number	Contract ID Prime Contrac	221216-C05 Streetwise,		Period Start Period End	July 16, 2 August 1,		Original Contract Amount Net Change Order Amount Current Contract Amount	\$415,754.13 \$0.00 \$415,754.13		
Approval Date									By User		
August 2, 2023		at the Project Office Level by	grayw1								
August 2, 2023		e Resident Engineer Level by	ilesb1								
August 3, 2023				Reviewed	and Approved	at the Cent	tral Offic	ce Controllers Office Level by	ramses1		
Original Completion	n Date	Current Cor	npletion Date	Actu	al Completion	Date		% of Current Contract Amoun	mount Complete		
October 1, 202	3	Octobe	r 1, 2023					64.30%			
	Contract I	nformational Dat	es		Mi	lestones					
Date Description	Original C	ompletion Date	Current Complet	ion Date	No Milestone	s Exist for (Contrac	t			
Acceptance Date											
Awarded Date	January 4,	2023	January 4, 2023								
Letting Date	December	16, 2022	December 16, 202	22							
Notice to Proceed Date	May 1, 202	23	May 1, 2023								
Open to Traffic Date	July 10, 20)23	July 10, 2023								
Work Began Date	July 10, 20)23	July 10, 2023								

Contract Total Pay For	Estimate No. 2				
		This Estimate	Previous	To Date	
221216-C05					
1	Total Posted Items Pay	<mark>\$137,481.53</mark>	\$129,831.44	\$267,312.97	
(Gross Item Adjustments	\$0.00	\$0.00	\$0.00	
	ncentive	\$0.00	\$0.00	\$0.00	
[Disincentive	\$0.00	\$0.00	\$0.00	
L	Liquidated Damage	\$0.00	\$0.00	\$0.00	
(Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			<mark>\$129,831.44</mark>	\$267,312.97	
Contract Total Payable	This Estimate:	\$137,481.53			

Contract Total Payable This Estimate:

ns Paid This Estimate Period	d

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JKR0234	0010	6169902	MISC.TEMPORARY TRAFFIC CONTROL SETUP 1	EA	\$50.000	1	\$50.00
	0090	6181000	MOBILIZATION	LS	\$70,000.000	0.305	\$21,350.00
	0100	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	LF	\$28.000	271	\$7,588.00
	0120	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.210	450,392.8	\$94,582.49
	0130	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.220	63,232	\$13,911.04
Project JK	R0234 - Tot	al					\$137,481.53
Overall - To	otal						\$137,481.53

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JKR0234	0100	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE				-271	\$28.00	(\$7,588.00)
	0100	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE			This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user grayw1 overridding Payment Estimate Exception 1 on		\$28.00	\$7,588.00



Pay Estimate Created Date: August 2, 2023

Prog	ress Es	stimate Number 2	Contract Prime Co		221216-C05 Streetwise, Inc.	Pay Period Start Pay Period End	July 16, 2023 August 1, 2023	Net Cl	al Contract A nange Order nt Contract A	Amount	\$415,754.13 \$0.00 \$415,754.13
Project Number	Line No.	Item Descrip	tion	Adjustment Type	Other Item Adjustment Type	Co	mments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JKR0234						the c	urrent Payment E	stimate.			
	0120	6 IN. WHITE HI WATERBORNE P. MARKING PAIN	AVEMENT	Material					-450,392.8	\$0.21	(\$94,582.49)
	0120	6 IN. WHITE HI WATERBORNE P. MARKING PAIN	AVEMENT	Material		overridding Paymen	al Payment Estima 0003) due to user	ate Item grayw1 on 2 on	450,392.8	\$0.21	\$94,582.49
	0130	6 IN. YELLOW HI WATERBORNE P. MARKING PAIN	AVEMENT	Material					-511,784	\$0.22	(\$112,592.48)
	0130	6 IN. YELLOW HI WATERBORNE P. MARKING PAIN	AVEMENT	Material		overridding Paymen	al Payment Estima 0001) due to user	ate Item grayw1 on 5 on	511,784	\$0.22	\$112,592.48
Total				·							\$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	on					
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
JKR0234	I-70-2(125)	Pavement marking	I-70	LAFAYETTE	from the Jackson Co	ounty line to the Cooper C	ounty line					
Totals by J	lob Numbers											
JKR0234					This Estimate	Previous	To Date					
	Posted I				\$137,481.53	\$129,831.44	\$267,312.97					
	Gross It	em Adjustmer		tem Pay	\$0.00 \$137,481.53	\$0.00 \$129,831.44	\$0.00 \$267,312.97					
	Incentiv	e			\$0.00	\$0.00	\$0.00					
	Disincer	ntive			\$0.00	\$0.00	\$0.00					
		ed Damages			\$0.00	\$0.00	\$0.00					
	Other C	ontract Adjust	ments		\$0.00	\$0.00	\$0.00					



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JKR0234, Item 6200015, Project Item Line Number 0100, Material Set 620001596, Material 1048PMPFWH - Performed Thermoplastic Marking Tape Wh, Acceptance Action Generic 1048PMPFWH is insufficient.	Test needs to be entered.	grayw1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKR0234, Item 6205902A, Project Item Line Number 0120, Material Set 6205902A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	Test needs to be entered.	grayw1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKR0234, Item 6205902A, Project Item Line Number 0120, Material Set 6205902A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Test needs to be entered.	grayw1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKR0234, Item 6205902A, Project Item Line Number 0120, Material Set 6205902A96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	Test needs to be entered.	grayw1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKR0234, Item 6205903A, Project Item Line Number 0130, Material Set 6205903A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	Test needs to be entered.	grayw1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKR0234, Item 6205903A, Project Item Line Number 0130, Material Set 6205903A96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	Test needs to be entered.	grayw1	Overridden
Estimate Exception Type: Insufficient Materials: Project JKR0234, Item 6205903A, Project Item Line Number 0130, Material Set 6205903A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Test needs to be entered.	grayw1	Overridden

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract n.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
1216-C05	JKR0234	0001	0010	6169902	MISC. TEMPORARY TRAFFIC CONTROL SETUP 1	4.00	0.00	4.00	EA	1.00	\$50.00	\$50.00
		0001	0020	6169902	MISC. TEMPORARY TRAFFIC CONTROL SETUP 2	82.00	0.00	82.00	EA	0.00	\$30.00	\$0.00
		0001	0030	6169902	MISC. TEMPORARY TRAFFIC CONTROL SETUP 3	11.00	0.00	11.00	EA	0.00	\$10.00	\$0.00
		0001	0040	6169902	MISC. TEMPORARY TRAFFIC CONTROL SETUP 4	11.00	0.00	11.00	EA	0.00	\$10.00	\$0.00
		0001	0050	6169902	MISC. TEMPORARY TRAFFIC CONTROL SETUP 5	2.00	0.00	2.00	EA	0.00	\$10.00	\$0.00
		0001	0060	6169902	MISC. TEMPORARY TRAFFIC CONTROL SETUP 6	2.00	0.00	2.00	EA	0.00	\$10.00	\$0.00
		0001	0070	6169902	MISC. TEMPORARY TRAFFIC CONTROL SETUP 7	4.00	0.00	4.00	EA	0.00	\$10.00	\$0.0
		0001	0080	6169902	MISC. TEMPORARY TRAFFIC CONTROL SETUP 8	1.00	0.00	1.00	EA	0.00	\$10.00	\$0.0
		0001	0090	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.75	\$70,000.00	\$52,500.0
		0001	0100	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	346.00	0.00	346.00	LF	271.00	\$28.00	\$7,588.0
		0001	0110	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	1.00	0.00	1.00	EA	0.00	\$400.00	\$0.0
		0001	0120	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	780,017.00	0.00	780,017.00	LF	450,392.80	\$0.21	\$94,582.4
		0001	0130	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	654,138.00	0.00	654,138.00	LF	511,784.00	\$0.22	\$112,592.4
		0001	0140	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	27,644.00	0.00	27,644.00	LF	0.00	\$0.80	\$0.0
		0001	0150	6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	374.00	0.00	374.00	LF	0.00	\$5.50	\$0.0
		0001	0160	6206124A	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	45.00	0.00	45.00	LF	0.00	\$18.00	\$0.0
	Project JP	(R0234 - To	otal Value	Posted to D	Date as of Report Generated Date							\$267,312.9
216-C05 Ove	rall - Total	Value Post	ed to Dat	te as of Repo	ort Generated Date							\$267,312.9



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail. location and quantity of work.

Project: JKR0234

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	6169902	MISC. TRAFFIC CONTROL DEVICES	7/26/23	8/2/23	1.00	EA		1		0		
0090	6181000	MOBILIZATION	8/1/23	8/2/23	0.30	LS		0		1		
0100	6200015	PREF THERMO PVMT MARK, 24 IN WHIT	7/29/23	8/2/23	271.00	LF	Various ramps.	0		1		
0120	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	7/19/23	8/2/23	49,176.00		West bound dash lines paid at 80% until approved. 61,470LF paid 49,176LF	86.8		39.4		
			7/20/23	8/2/23	71,616.00	LF	Dash line finished WB started and finished EB. Paid at 80% until approved 89,520LF total	29.2		86.8		
			7/21/23	8/2/23	8,072.00	LF	10,090LF Paid at 80% for 8,072LF until approved.	86.8		84.6		
			7/25/23	8/2/23	117,313.60	LF	146,642 LF paid at 80% until approved for 117,313.6LF	86.8		70.6		
			7/26/23	8/2/23	108,400.00	LF	135,500 LF paid at 80% 108,400 until approved.	70.6		58.0		
			7/28/23	8/2/23	95,815.20	LF	119,769LF paid at 80% until approved 119,769 total LF	47.2		58.0		
0130	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAINT	7/17/23	8/2/23	63,232.00	LF	79,040LF paid at 80% 63,232LF until approved.	38.2		29.2		

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Aug 4, 2023

Contract ID: 221216-C05

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks							
JKR0234	0100	PREF THERMO PVMT MARK,	Material		2	Aug 2, 2023	SYSTEM	\$7,588.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user grayw1 overridding Payment Estimate Exception 1 on the current Payment Estimate.							
		24 IN WHIT					2	Aug 2, 2023	SYSTEM	(\$7,588.00)						
				- Total				\$0.00								
			Material - To	otal				\$0.00								
	0100 -	Total						\$0.00								
	0120	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	Material		2	Aug 2, 2023	SYSTEM	\$94,582.49	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user grayw1 overridding Payment Estimate Exception 2 on the current Payment Estimate.							
		PAINT			2	Aug 2, 2023	SYSTEM	(\$94,582.49)								
				- Total				\$0.00								
			Material - To	otal				\$0.00								
	0120 -	Total						\$0.00								
	0130	6 IN. YELLOW HIGH BUILD WATERBORNE	Material		1	Jul 17, 2023	SYSTEM	\$98,681.44	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user grayw1 overridding Payment Estimate Exception 1 on the current Payment Estimate.							
		PAINT										1	Jul 17, 2023	SYSTEM	(\$98,681.44)	
					2	Aug 2, 2023	SYSTEM	\$112,592.48	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user grayw1 overridding Payment Estimate Exception 5 on the current Payment Estimate.							
					2	Aug 2, 2023	SYSTEM	(\$112,592.48)								
				- Total				\$0.00								
			Material - To	otal				\$0.00								
	0130 -	Total						\$0.00								
JKR0234	- Total							\$0.00								
Overall -	Total							\$0.00								



There are no contract adjustments to display for this contract.